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21. If you walk out into the street without looking you risk .................. run over.
1) be 2) to be 3) being 4) have been
22. It was too dark to tell .................. she was awake or not.
1) as 2) while 3) when 4) whether
23. I asked him .......ccevereunee he had done it all by himself.
1) because 2) so as 3) that 4) whether
24. The school made all the students .................. the exam once more.
1) take 2) took 3) to take 4) taking
25. "How can you make your lecture interesting?' "I can make my lecture interesting by .................. my sense
of humor."
1) use 2) using 3) to use 4) being used
26. Thousands of pieces of data are .................. in a computer memory.
1) transferred  2) exchanged 3) stored 4) connected
27. Many people like to ..........c....... some food in case of an emergency.
1) rise 2) survive 3) store 4) decrease
28. Asking questions can make the audience .................. on your speech.
1) respect 2) express 3) launch 4) concentrate
29. Everyone at some point has had to worry about what to wear for a job interview or some other important ......... .
1) sources 2) occasions  3) unions 4) functions
30. In what ways can you make your family and friends .......ccccceeuues of the importance of the environment?
1) update 2) release 3) dream 4) aware
31. Do you think we should ............. the price of our products in order to sell more?
1) tap 2) respect 3) lower 4) overcome
Blind people cannot read ordinary writing or printing because they cannot see. But a number of .......... (32)........ of
writing for the blind .......... (33)........ out. The one most often used is Braille. In Braille each letter is made of dots
which are ......... 34)......... from the page. A blind person reads Braille by .......... 35)........ his fingers over lines of
dots. In reading, he must notice both the number of dots and how they are arranged .......... (36)........ Many letters for
instance, consist of three dots, but the dots are not arranged the same way.
32. 1) way 2) facts 3) shapes 4) fields
33. 1) have worked 2) were worked 3) were working 4) have been worked
34. 1) released 2) improved 3) continued 4) raised
35. 1) increasing 2) joining 3) lifting 4) running
36. 1) physically 2) normally 3) carefully 4) straightly

More than half of what we communicate is communicated not through words but through body language. This include
our posture, facial expressions, and gestures. Because body language is so important, you will want to know what
yours is saying and how to interpret other people's, too. Here are some examples of body language and its meaning. If
your posture is slumped and your head is down, this could mean that you are sad or lack of confidence. If your posture
is straight but relaxed, you are expressing confidence and friendliness. A smile is a sign of friendliness and interest.
But people sometimes smile just to be polite. To get another due from people's faces, notice their eyes. Friendliness
and interest are expressed when a person eyes meet yours (especially when you're the one who's talking) and then look
away and meet yours again. A person who doesn't look away is expressing lack of interest or is shy.

Hand gestures can mean a person is interested in the conversation. But repeated movements- like tapping a pencil or
tapping a foot often mean the person is either impatient or nervous. Stay away from someone who points at you while
talking with you: That person might be angry at you or feel superior to you.




37. If you want to show someone that you're interested, you should .................. .
1) look away from the person

2) look at the person but not for too long

3) continue to look at the person without stopping

4) stay away from the person's eyes

38. The best title for the passage would be ..................

1) Facial Expressions 2) Mysteries of Communication

3) Eye Contact 4) Body Language

39. The underlined word "this" in paragraph 2 refers to ..................

1) A slumped posture  2) sadness 3) your head 4) A straight posture

40. According to this passage, over 50% of our communication is conveyed through .................. .
1) our gestures, posture, and facial expressions 2) the interpretation of other people's body language.
3) the things that we say 4) the interest of our audience

41. A person who .................. appears to question whether what you say is right.

1) does not look at you 2) looks away and meets your eyes again

3) does not look away 4) points at you

In the Asian country of Bangladesh, rising water levels are causing floods in areas where people live. The frequent
floods mean many children cannot get to school regularly. If water levels continue to rise, this problem is only going to
get worse. What can be done for children who cannot attend school? One solution is to bring the school to them.

Floating schools are schools on boats that travel to the low-lying areas of Bangladesh. Children swim or wade out to
the boats and then climb aboard. The boats are equipped with desks, books, and even computers. The computers are
powered by solar energy. This is energy that comes from the sun and is used to create electricity. Floating schools mean
that even when students’ houses are surrounded by water, they can still attend school.

Floating schools may be only the beginning of changes for this area. The man who created these schools imagines
creating all types of floating stations: floating libraries, floating healthcare centers, and even floating gardens. Experts
predict that by 2050, 20% of the land in Bangladesh could be underwater. The country is already very crowded, so there
is not enough room for all those people to move to a different part of the country. Since the flooding in Bangladesh will
likely get worse, some people have decided it is time to figure out how to live on water.

42. Solar energy comes from ............ .
1) water 2) electricity 3) floating schools 4) the sun
43. According to the passage, the main problem in Bangladesh is that the country............ .
1) is very crowded 2) is very poor
3) floods very often 4) has very few schools
44. It can be understood that floating schools are a good idea because the students in Bangladesh ............... .
1) like to swim 2) like to eat
3) can afford them 4) can reach them

45. What could the people of Bangladesh do to help solve their problem?
1) move to a different part of the country
2) build more floating stations
3) make more solar energy
4) buy more computers
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